BEILFORERD - #BRE (1)
= 0 # % - # oy ® E 3 x
F =] 8 P 8 B B R
R4%E R34 T % R4 R3%E T % R4 R3E @ A0
HOE N BB 6,034 6,075 -41 -0.7 2,632 3,620 -988 -27.3 43.6 59.6 -16.0
& A & 976 1,061 -85 -8.0 553 844 -291 -34.5 56.7 79.5 -22.8
% E B 311 412 -101 -245 116 242 -126 -52.1 37.3 58.7 -21.4
2 A # 125 223 -98 -43.9 60 342 -282 -82.5 48.0 153.4| -105.4
=] % = 15 16 -1 -6.3 2 11 -9 -81.8 13.3 68.8 -55.5
AT MIBUY
® E B Y 12 10 2 20.0 4 4 — 33.3 33.3
w OfE F® L 1 3 -2 -66.7 1 1 100.0 33.3 66.7
BEaERL 1 -1| -100.0 2 2 — — —
¥ KR ®m L 3 4 -1 -25.0 1 1 33.3 25.0 8.3
m B & L 38 38 — —
#% M P W L 4 4 — —
T H WL 75 49 26 53.1 40 21 19 90.5 53.3 429 10.4
HOE W L 110 48 62 129.2 61 16 45 281.3 55.5 33.3 222
I % & L 12 12 5 13 -8 -61.5 41.7 108.3 -66.6
B K E R L 5 4 1 25.0 1 1 — 20.0 20.0
2 E ® L 103 120 -17 -14.2 86 78 8 10.3 83.5 65.0 185
Z [2) it 162 159 3 1.9 174 119 55 46.2 107.4 74.8 32.6
EF Y B B 1,281 989 292 29.5 161 131 30 229 12.6 13.2 -0.6
B B B & 118 107 1 10.3 31 39 -8 -20.5 26.3 36.4 -10.1
F—5HY 17 19 -2 -10.5 10 16 -6 -375 58.8 84.2 -25.4
-4 L 101 88 13 14.8 21 23 -2 -8.7 20.8 26.1 -5.3
bl AN - 34 46 -12 -26.1 14 15 -1 -6.7 41.2 32.6 8.6
*F—5HY 8 9 -1 -11.1 2 7 -5 -71.4 25.0 718 -52.8
-4 L 26 37 -11 -29.7 12 8 4 50.0 46.2 21.6 246
B & B & 1,129 836 293 35.0 116 717 39 50.6 10.3 9.2 1.1
i 294 219 75 34.2 35 24 1 45.8 11.9 11.0 0.9
il el 835 617 218 35.3 81 53 28 52.8 9.7 8.6 1.1
¥ £ A & 3,771 4,025 -248 -6.2 1,918 2,645 -727 -275 50.8 65.7 -14.9
B L) & 8 7 1 14.3 5 3 2 66.7 62.5 429 19.6
h H & 31 75 -44 -58.7 31 82 -51 -62.2 100.0 109.3 -9.3
ATMBLLWL
EE R LW 3 1 2 200.0 2 2 — 66.7 66.7
B E b W 5 3 2 66.7
v o fz <Y 3 5 -2 -40.0 3 5 -2 -40.0 100.0 100.0
kl Y 2 2 — 3 -3| -100.0 — —
[ El = 77 82 -5 -6.1 27 44 -17 -38.6 35.1 53.7 -18.6
REZEHR DLW 5 7 -2 -28.6 1 -1| -100.0 14.3 -14.3
LR A U= A 476 524 -48 -9.2 423 293 130 444 88.9 55.9 33.0
M Lt 140 183 -43 -23.5 312 99 213 215.2 2229 54.1 168.8
iR 336 341 -5 -15 111 194 -83 -428 33.0 56.9 -23.9
B oMt 5 270 188 82 43.6 27 17 10 58.8 10.0 9.0 1.0
B &ZA S L 23 23 2 3 -1 -33.3 8.7 13.0 -4.3
BR#HRLS W 43 55 -12 -21.8 44 421 -377 -89.5 102.3 765.5| -663.2
=N 121 99 22 222 82 39 43 110.3 67.8 39.4 28.4
IEHHL W 50 71 -21 -29.6 16 20 -4 -20.0 32.0 28.2 3.8
B El = 1,200 1,256 -56 -45 784 923 -139 -15.1 65.3 735 -8.2
B & Ao 127 112 15 13.4 47 64 -17 -26.6 37.0 57.1 -20.1
BB R 5 L 11 3 8 266.7 4 1 3 300.0 36.4 33.3 3.1
z [2) it 1,322 1,514 -192 -12.7 421 726 -305 -42.0 31.8 48.0 -16.2




BEILFORRMD - #BRE  (2)
® Z A 8 3 N D) F
F = # b b} b # b
R4 R3E B % R4£E R3& B % R4 R3&E B %
B X L O#H %K 1146 1,438 -292|  -203 1,059 1,354 -205|  -218 87 84 3 3.6
=] A & 105 106 -1 -0.9 100 104 -4 -3.8 5 2 3 150.0
% = S 20 35 -15|  -429 19 35 -16| -457 1 1 —
2 A # 7 13 -6| -46.2 7 11 -4 -364 2 -2| -100.0
1= % & 1 -1| -100.0 1 -1| -100.0
AT MIBUY
& E B Y 3 1 2| 2000 3 1 2| 2000
w fE W L 1 -1 -100.0 1 -1| -100.0
BEaERL
¥ K ® L
m B & L 1 -1| -100.0 1 -1| -100.0
# oM BT oL
EBEmREL 14 6 8| 1333 13 6 7 116.7 1 1 —
H OE % L 7 5 2 40.0 7 5 2 40.0
I B ¥ L 2 2 2 2
B KR ERL 1 1 — 1 1 —
2 E & L 36 24 12 50.0 34 24 10 417 2 2 —
z [2) fth 15 17 -2|  -11.8 15 17 -2  -118
g Y B & 55 54 1 1.9 39 33 6 18.2 16 21 -5 -238
B ® = X 11 11 11 9 2 222 2 -2| -100.0
F—5HY 4 9 -5| -556 4 7 -3 -429 2 -2| -100.0
*F—H L 7 2 5 2500 7 2 5 2500
r— kN & 3 7 -4  -571 1 1 2 6 -4  -66.7
F—5HY 1 4 -3 -750 1 4 -3 -75.0
*F—HL 2 3 -1 -33.3 1 1 1 2 -1 -50.0
B & #H & 41 36 5 13.9 27 23 4 17.4 14 13 1 7.7
&L 1 4 7 -3 -429 2 4 -2|  -500 2 3 -1 -33.3
i &t 7 37 29 8 27.6 25 19 6 31.6 12 10 2 20.0
F B A K 986 1,278 -202|  -228 920| 1217 -207|  -244 66 61 5 8.2
B L7 % 4 2 2 100.0 4 2 2 100.0
#h H & 2 2 — 2 2 —
ATMBLLWL
EE R LW 2 2 — 2 2 —
BRE R 5 W
v - =< Y 2 3 -1 -33.3 2 2 1 -1 -100.0
k2 Y 2 -2| -100.0 2 -2| -100.0
B E 3 25 34 -9 -265 22 31 -9 -290 3 3
REZEHR DLW 1 -1| -100.0 1 -1| -100.0
= S 11 18 -71 -389 9 18 -9 -500 2 2 —
W& LT 1 4 -3 -750 1 4 -3 -75.0
& 7 10 14 -4 -286 8 14 -6 -429 2 2 —
A 3 6 -3  -500 1 6 -5| -833 2 2 —
Bt KRGS L 1 -1 -100.0 1 -1| -100.0
BER#A S L 3 -3| -100.0 3 -3| -100.0
=N 12 14 -2 -14.3 11 12 -1 -8.3 1 2 -1 -50.0
IEHEHL LW 3 1 2 200.0 2 1 1 100.0 1 1 —
Pl El = 599 690 -91 -13.2 552 650 -98| -15.1 47 40 7 175
B %5 L 39 56 -17| -304 35 52 -17| -327 4 4
E=EE 3 1 2( 2000 2 1 1 100.0 1 1 —
z [2) fth 281 446 -165[ -37.0 276 435 -159[ -36.6 5 11 -6| -545




